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Section 1 - PaperI-English Language 

 

1) Select the correct option.  
You are nothing but __________ old orthodox man. 

 
A) the  
B) a  
C) an  
D) no article  

 

 
 
2) Fill in the blank with the correct option.  
How many _______ are in your school bag? 

A) eraser  
B) pencil  
C) books  
D) notebook  

 

 
 
Read the following passage and answer the questions 
that follow: 

Comb honey is honey intended for consumption which is 
still contained within its original hexagonal-shaped 
beeswax cells, called honeycomb. It is eaten as produced 
by honey bees and has received no processing, filtering, 
or manipulation. Fresh, new comb is sold and used intact 
as comb honey, especially if the honey is being spread on 
bread rather than used in cooking or as a sweetener. 
Before the invention of the honey extractor almost all 
honey produced was in the form of comb honey. Today, 
most honey is produced for extraction but comb honey 
remains popular among consumers both for eating 'as is' 
and for combining with extracted honey to make chunk 
honey. Hobbyists and sideliners can develop their 
beekeeping skills by producing comb honey, which takes 
more rigorous attention to beekeeping than the production 
of extracted honey. Because of the more demanding labor 
involved, comb honey has greater retail value than 
extracted honey. ($17/pound compared to $6.50/pound 
US). Comb honey production is more suitable for areas 
with an intense prolonged honey flow from eucalyptus, 
alfalfa, alsike, and yellow clover. Wooded areas are not as 
suitable for comb honey production, as bees tend to 
collect more propolis, making the harvesting of comb 
honey more difficult. This problem has been largely 
circumvented with the adoption of specialized frames, 
such as the Ross Round frame, which prevent 
accumulation of propolis on saleable units. Populous 
honey bee colonies are usually reduced to single hive 
body at the beginning of the honey flow when one or more 
comb honey supers are added.  

Comb honey can either be produced in wooden sections, 
shallow frames or Ross Rounds. The successful 
production of comb honey requires that the hive remain 
crowded without inducing swarming. Young prolific 
queens help rapid colony population expansion with less 
likelihood of swarming. Caucasian honey bees are often 
preferred for their tendency to keep a constricted brood 
nest and for their production of white wax cappings, 
making more attractive honey combs.  

 
3) One of the uses of comb honey that can be used is?  

A) Sweetener  
B) Condiment  
C) Flavouring agent  
D) Spice  

 

 
 
4) Specialized Ross round frames are used to  

A) reduce swarming of the hives  
B) provide favourable environment to the bees  
C) help the bees to produce white wax cappings  
D) prevent accumulation of propolis  

 

 
 
5) Chunk honey is made by  

A) harvesting comb honey made by Caucasian bees  
B) extracting comb honey from shallow frames  
C) collecting the honey flow of yellow clover plant  
D) combining extracted honey and comb honey  

 

 
 
6) Caucasian honey bees are often preferred because 
they  

A) don’t expand their brood nest  
B) don’t collect propolis  
C) secrete top quality honey  
D) adapt quickly to Ross round frame  
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7) Comb honey is more expensive than extracted honey 
because of  

A) the organic value of comb honey  
B) the hardwork involved in beekeeping  
C) the comb shape  
D) its chunkier taste  

 

 
 
8) Select the correct form of verb from the given options.  
I am very happy, my favourite singer ____________ to my 
city next June for a concert. 

 
A) will be coming  
B) will come  
C) is coming  
D) would be coming  

 

 
 
9) Choose the most appropriate similar meaning word: 
NEUTRAL  

A) Prejudiced  
B) Involved  
C) Unbiased  
D) Predisposed  

 

 
 
10) Find the most appropriate opposite meaning word: 
EXODUS  

A) Migration  
B) Influx  
C) Restoration  
D) Return  
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Section 2 - PaperI-Education and General Awareness 

 

11) For the first 10 years of education, which of the 
following breakup was proposed by the National Policy on 
Education, 1986?  

A) 5+4+1  
B) 4+4+2  
C) 5+3+2  
D) 6+2+2  

 

 
 
11) Ȅଥମ 10 ବଷƽ ପାଇଁ ନମିȪମżରୁ େକଉଁ େȆକ ଅପ, ନȻାସନାଲ ପଲିସି ଅନ 
ଏଜୁେକସନ, 1986 Ÿାରା ȄƱାବତି େହାଇǆଲା?  

A) 5+4+1  
B) 4+4+2  

C) 5+3+2  
D) 6+2+2  

 

 
 
12) Which of the following is NOT a mandate of University 
Grants Commission in India?  

A) Serving as a vital link between the Union and state 
governments for primary and secondary board of 
education  

B) Monitoring developments in the field of collegiate and 
university education  

C) Advising the Central and State governments on the 
measures necessary for improvement of university 
education  

D) Determining and maintaining standards of teaching, 
examination and research in universities  

 

 
 
12) ନମିȪମżରୁ େକଉଁଟ ିୟୁନଭିସǃଟ ିǲାŠସ କମିସନର କାଯƽȻ ନୁେହ ଁ?  

A) Ȅାଥମିକ ଓ ମାżମିକ ଶŁିା ପରିଷଦ ପାଇ,ଁ େକƄୀୟ ଓ ରାଜȻ ସରକାର 
ମżେର ଗୁରୁତȭପťୂƽ ସƓକƽ େସବା Ȅଦାନ କରିବା  

B) ଅżାପନା ଏବଂ ବƤିବଦିȻାଳୟ ଶŁିା କାଯƽȻǰମ ଗୁଡ଼ŋି ର ବକିାଶ ନରିୀŁଣ 
କରବିା  

C) ବƤିବଦିȻାଳୟ ଶŁିା େର ସଧୁାର କରିବା ପାଇଁ େକƄ ଏବଂ ରାଜȻ ସରକାରŋୁ 
ମାଗƽଦଶǃକା Ȅଦାନ କରବିା  

D) ବƤିବଦିȻାଳୟ େର ଶିŁା, ପରୀŁା ଓ ଗେବଷଣା ର Ʊର ର ଅନୁରŁଣ କରବିା 
ଓ ନŶିƽାରିତ କରବିା  

 

13) Trachoma is an infectious disease which affects the  

A) Ears  
B) Larynx  
C) Eyes  
D) Brain  

 

 
 
13) Ǻାେକାମା ଏକ ସଂǰାମକ େରାଗ ଯାହା ____ କୁ ଆǰମଣ କରଥିାଏ  

A) କାନ  

B) ଗଳା  
C) ଆǅ  
D) ମƱିƦ  

 

 
 
14) Which of the following writs mean 'You may have the 
body'?  

A) Habeas Corpus  
B) Quo Warranto  
C) Mandamus  
D) Certiorari  

 

 
 
14) ନମିȪ ରିǓ  ଗୁଡକି ମżରୁ କାହାର ଅଥƽ େହଉଛ ି’ୟୁ େମ ହାǟ  ଦ ିବଡ’ି?  

A) େହବଅିǩ  କପƽǩ   
B) େକȻା ୱାରାେŠା  
C) ମାŢାମǩ   
D) େସଟǃଓରାର ି 

 

 
 
15) Which of the following commissions proposed, the 
aims of university should be to produce able citizens who 
can take up national responsibilities successfully in 
various fields?  

A) National Commission of Education, 1986  
B) National Commission of Education, 1968  
C) New Educational Policy, 1986  
D) University Education Commission (1948-49)  
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15) ନମିȪ କମିସନମାନŋ ମżରୁ କଏି ȄƱାବ େଦଇǆେଲ େଯ ବƤିବଦିȻାଳୟର 
ଲŁȻ େହବା ଉଚତି େଯ ଏପର ିନାଗରିକ ଗଢବିା େଯଉଁ ମାେନ ବଭିିƊ େŁǿେର 
ଜାତୀୟ ଦାୟିŭ କୁ ସୂଚାରୁ ରୂେପ ତୁଲାଇ ପାରେିବ?  

A) ନȻାସନାଲ କମିସନ ଅଫ ଏଜୁେକସନ, 1986  
B) ନȻାସନାଲ କମିସନ ଅଫ ଏଜୁେକସନ, 1968  
C) ନୟୁି ଏଜୁେକସନାଲ ପଲିସ,ି 1986  

D) ୟୁନଭିସǃଟ ିଏଜୁେକଶନ କମିସନ (1948-49)  
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Section 3 - PaperI-Reasoning 

 

16) Instruction: 
In the following question, mark:  
1, if the question can be answered with the help of 
statement I alone. 

2, if the question can be answered with the help of 
statement II alone. 

3, if the question can be answered with the help of both I 
and II. 

4, if the question can't be answered at all. 
 
  

How is Helena related to Abrian ? 

Statement I : Bruce is the brother of Abrian. 

Statement II : Abrian is Helena's brother. 

 
A) 3  
B) 1  
C) 4  
D) 2  

 

 
 
16) ନେିŵƽଶାବଳୀ: ନମିȪଲିǅତ ȄଶȪେର  
1 ଚƺିଟ କରŽୁ ଯଦ ିେକବଳ ମŽବȻ I ସାହାଯȻେର ȄଶȪର ଉŧର ଦଆିଯାଇପାରୁଛ ି
।  

2 ଚƺିଟ କରŽୁ, ଯଦ ିେକବଳ ମŽବȻ II ସହେଯାଗେର ȄଶȪର ଉŧର ଦଆିଯାଇ 
ପାରୁଛ ି।  

3, ଯଦ ିଉଭୟ I ଏବଂ II ସହେଯାଗେର ȄଶȪର ଉŧର ଦଆିଯାଇ ପାରୁଛ ି।  

4, ଯଦ ିȄଶȪର ଉŧର େକେବ ବ ିଦଆିଯାଇ ପାରବି ନାହ ǂ । 

 ହାȆଆିନ ସହ େହେଲନାର ସƓକƽ କଣ ? 

ମŽବȻ I :  ବƿସ, ଆȆଆିନର ଭାଇ  । 

ମŽବȻ II :  ଆȆଆିǜ େହଉଛ ିେହେଲନାର ଭାଇ । 

 
A) 3  
B) 1  
C) 4  
D) 2  

 

17) What is the time taken in seconds by a 180 m long 
train travelling at a speed of 270 kmph to fully cross a 
milestone?  

A) 3.3  
B) 2.7  
C) 2.4  
D) 2  

 

 
 
17) ଘŠାȄତ ି270 କେିଲାମିଟର େବଗେର ଗତ ିକରୁǆବା 180 ମଟିର ଦୀଘƽ ଏକ 
େǺǜ ଏକ ମାଇଲେƨାǜ ଅତǰିମ କରବିାକୁ େକେତ େସେକŢ େନବ?  

A) 3.3  
B) 2.7  
C) 2.4  
D) 2  

 

 
 
18) Instruction: Below mentioned are statements 
followed by some conclusions. You have to take the 
given statements to be true even if they seem to be at 
variance from the commonly known facts. Read all the 
conclusions and then decide which of the given 
conclusions logically follows from the given statements 
disregarding commonly known facts. 
 
Statements: 
All smartphones are phablets. 
No phablet is tablet. 
 
Conclusions: 
I) No smartphone is tablet. 
II) All phablets are smartphones.  

A) Only I follows  
B) Only II follows  
C) Both I and II follow  
D) None of the conclusions follow  
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18) ନେିŵƽଶାବଳୀ: ତେଳ ଦଆିଯାଇǆବା ମŽବȻ ପଛକୁ କିଛ ିନƯିଷƽ 
ଦଆିଯାଇଛ ି । ଆପଣŋୁ ଦଆିଯାଇǆବା ମŽବȻକୁ ସତȻ େବାଲି ମାନବିାକୁ ପଡବି 
ଯଦଓି ବ ିଏହା ସାଧାରଣେର ଜଣାǆବା ତଥȻଠାରୁ ଭƊି େଦଖାଯାଉଥାଏ । ସମƱ 
ନƦିସƽକୁ ପଢŽୁ ଏବଂ ତାପେର ନƬିŧ ିନଅିŽୁ,  ଦଆିଯାଇǆବା ନƦିସƽ ମżରୁ 
େକଉଁଟା ସାଧାରଣେର ଜଣାǆବା ତଥȻର ଅବମାନନା କରୁǆବା ମŽବȻକୁ ଠିǉ 
ଭାେବ ଅନୁସରଣ କରୁଛ ି।  
ମŽବȻ: ସବୁ ƹାଟƽ େଫାǜ ଗଡୁକି ଫାବେଲǓ । େକୗଣସ ିଫାବେଲǓ ଟାବେଲǓ 
ନୁେହ ଁ। 

ନƦିସƽ:  

I) େକୗଣସ ିƹାଟƽେଫାନ ଟାବେଲǓ ନୁେହ ଁ।  

II) ସବୁ ଫାବେଲǓ ଗଡୁକି ƹାଟƽେଫାǜ । 

 
A) େକବଳ I ଅନୁସରଣ କରŽୁ  
B) େକବଳ II ଅନୁସରଣ କରŽୁ  
C) ଉଭୟ I ଏବଂ II ଅନୁସରଣ କରŽୁ  

D) େକୗଣସ ିବ ିନଯିƽାସକୁ ଅନୁସରଣ କରŽୁ ନାହ ǂ  
 

 
 
19) Instruction: Below mentioned are statements 
followed by some conclusions. You have to take the 
given statements to be true even if they seem to be at 
variance from the commonly known facts. Read all the 
conclusions and then decide which of the given 
conclusions logically follows from the given statements 
disregarding commonly known facts. 
 
Statements: 
Some wallets are watches. 
Some watches are belts. 
All the belts are shoes. 
 
Conclusions: 
I) Some shoes are watches. 
II) Some belts are wallets. 
III) No belt is wallet. 
IV) Some watches are wallets.  

A) Only I and II follow  
B) Only II and IV follows  
C) Only II and III follows  
D) Only I, IV and either II or III follows  

 

 
 
 
 

19) ନେିŵƽଶାବଳୀ: ତେଳ ଦଆିଯାଇǆବା ମŽବȻ ପଛକୁ କଛି ିନƯିଷƽ ଦଆିଯାଇଛ ି । 
ଆପଣŋୁ ଦଆିଯାଇǆବା ମŽବȻକୁ ସତȻ େବାଲି ମାନବିାକୁ ପଡିବ ଯଦଓି ବ ିଏହା 
ସାଧାରଣେର ଜଣାǆବା ତଥȻଠାରୁ ଭƊି େଦଖାଯାଉଥାଏ । ସମƱ ନƦିସƽକୁ ପଢŽୁ 
ଏବଂ ତାପେର ନƬିŧି ନଅିŽୁ,  ଦଆିଯାଇǆବା ନƦିସƽ ମżରୁ େକଉଁଟା ସାଧାରଣେର 
ଜଣାǆବା ତଥȻର ଅବମାନନା କରୁǆବା ମŽବȻକୁ ଠǉି ଭାେବ ଅନୁସରଣ କରୁଛ ି।  
ମŽବȻ: କଛି ିୱାେଲǓ େହଉଛ ିଘŠା । କଛି ିଘŠା େହଉଛ ିେବǤ ଟ  । ସବୁ େବǤ ଟ 
ଗଡୁିକ େଜାତା । 

ନƦିସƽ:  

I)  କଛି ିେଜାତା ଗଡୁକି ଘŠା ।  

II)  କଛି ିେବǤ ଟ େହଉଛ ିୱାେଲǓ    

lll) େକୗଣସ ିେବǤ ଟ ୱାେଲǓ ନୁେହ ଁ।  

IV) କଛି ିଘŠା େହଉଛ ିୱାେଲǓ । 

 
A) େକବଳ I ଏବଂ  II ଅନୁସରଣ କରŽୁ ।  
B) େକବଳ II ଏବଂ  IV ଅନୁସରଣ କରŽୁ ।  
C) େକବଳ II ଏବଂ  III ଅନୁସରଣ କରŽୁ ।  
D) େକବଳ I, IV ଏବଂ  II କମିȴା IIIରୁ େଗାଟଏି ଅନୁସରଣ କରŽୁ  

 

 
 
20) In a certain code language COLORADO is written as 
NMJMPYBB. How is CREATION written in that code 
language?  

A) MPCYTGMB  
B) BPCYRGMM  
C) MPCYRGMB  
D) BPCYTGMM  

 

 
 
20) ଏକ ନŵିǃƨ ସାେŋତକି ଭାଷାେର COLORADO କୁ NMJMPYBB 
ଭାେବ େଲଖାଯାଇଛ ି । େସହ ିସାେŋତକି ଭାଷାେର  CREATION କୁ କଭିଳ ି
େଲǅେବ?  

A) MPCYTGMB  
B) BPCYRGMM  
C) MPCYRGMB  
D) BPCYTGMM  
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Section 4 - PaperI-Teaching Aptitude 

 

21) A child creates his own concepts and knowledge 
based on the information he gets from outside sources. 
This means that he learns through the method of  

A) rote learning  
B) memorization  
C) construction of knowledge  
D) creation of knowledge  

 

 
 
21) ଜେଣ ବଦିȻାଥƽୀ ବାହାର ଉŰରୁ Ȅାƌ ତଥȻ ଆଧାରେର ନଜିର ଅବଧାରଣା ଓ 
ŗାନ ବୃŶି କେର । ଏହାର ଅଥƽ େସ େକଉଁ ପŶତେିର ଶଖିଛୁ ି?  

A) େଘାଷିବା  
B) ƹରଣ ରǅବା  
C) ŗାନ ଗଠନ କରବିା  
D) ŗାନ ଉŬƊ କରବିା  

 

 
 
22) Which of the following agencies of education should 
set ideal examples of co-operation, fellow-feeling, social 
service, sympathy, sacrifice, tolerance, friendliness etc. 
before children to emulate and imbibe them for the 
development of their personality and the well-being of the 
society?  

A) Community  
B) Library  
C) Radio  
D) Museum  

 

 
 
22) ଶŁିାର ନେିମȪାĽ ସଂƳାଗଡ଼ୁକି ମżରୁ େକଉଁଟ ିପଲିାମାନŋ ଆଗେର ଏଗଡୁକୁି 
ପାଳନ କରବିା ଏବଂ ǲହଣ କରବିା ନମିେŽ ସହେଯାଗ, ସାଥୀ ଭାବନା, ସାମାଜକି 
େସବା, ସମେବଦନା, ତȻାଗ, ସହƫୁିତା, ବƆୁତା ଇତȻାଦରି ଆଦଶƽ ଉଦାହରଣ Ƴାପନ 
କରବିା ଉଚǘି ?  

A) ସମୂହ  
B) ପାଠାଗାର  

C) େରଡଓି  

D) ସଂǲହାଳୟ  
 

 
 

23) Which of the following is NOT one of the foundational 
skills of language (English) learning?  

A) Writing  
B) Listening  
C) Reading  
D) Understanding  

 

 
 
23) ନେିମȪାĽ ମżରୁ େକଉଁଠି ଭାଷା (ଇଂରାଜୀ) ଶŁିାର େମୗଳକି େକୗଶଳ ନୁେହ?ଁ  

A) େଲǅବା  
B) ଶଣିୁବା  
C) ପଢ଼ବିା  
D) ବୁଝବିା  

 

 
 
24) Read the following statements and choose the 
CORRECT option.  
(i) The formal kind of education can be scientifically and 
consistently provided to a large number of children 
simultaneously.  

(ii) A new concept of distance education known as m-
learning is a mode of formal education. 

 
A) (i) is FALSE and (ii) is FALSE  
B) (i) is FALSE and (ii) is TRUE  
C) (i) is TRUE and (ii) is TRUE  
D) (i) is TRUE and (ii) is FALSE  

 

 
 

24) ନେିମȪାĽ ବାକȻ ଗୁଡ଼କୁି ପଢ଼Žୁ ଏବଂ ଠǉି  ବକିƝ ଚୟନ କରŽୁ। 
 
(i)  ଔପଚାରକି Ȅକାରର ଶିŁା ବŗିାନ ସƙତ ଏବଂ ନରିŽର ଭାବେର 
ଏକକାଳୀନ ଏକକାଳୀନ ବହୁ ସଂଖȻକ ଶଶିŋୁୁ Ȅଦାନ କରାଯାଇପାରବି 
 
(ii) ଏǡ -ଲťିଂ ଭାବେର ଜଣାଶଣୁା ଦୂର ଶିŁାର ଏକ ନୂତନ ଅବଧାରଣା 
ଔପଚାରକି ଶŁିାର ଏକ ପǚ  

A) (i)ଭୁଲ ଏବଂ (ii) ଭୁଲ  
B) (i) ଭୁଲ ଏବଂ (ii) ଠǉି   
C) (i) ଠǉି  ଏବଂ (ii) ଠǉି   
D) (i) ଠǉି  ଏବଂ (ii) ଭୁଲ  
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25) In order to reach at behaviour modification, the 
teacher should  

A) ignore all wrong behaviour  
B) encourage the wrong behaviour  
C) check all wrong behaviour  
D) not be bothered at all  

 

 
 
25) ଆଚରଣ ପରବିŧƽନ ଦୃƨିରୁ, ଶŁିକ କଣ କରବିା ଉଚǘି ?  

A) ସମƱ ଭୁଲ ଆଚରଣକୁ ଅଣେଦଖା କରେିବ  

B) ଭୁଲ ଆଚରଣ ପାଇଁ ଉŰାହତି କରେିବ  
C) ସମƱ ଭୁଲ ଆଚରଣକୁ ତଦାରଖ କରେିବ  

D) ଆେଦୗ ଚŽିତି େହେବ ନାହ ǂ  
 

 
 
26) Which of the following options is INCORRECT with 
reference to the development of negative traits in students 
due to the long term and insensitive use of corporal 
punishments in schools?  

A) Loss of interest in learning  
B) Fear and anxiety  
C) Social misconduct  
D) Higher academic performance  

 

 
 
26) ବଦିȻାଳୟେର ବȻବହାର ଦୀଘƽମିଆଦୀ ଏବଂ ଅସେମȴଦନଶୀଳ ଶାରୀରକି 
ଦŢର କାରଣ େଯାଗଁୁ ବଦିȻାଥƽୀମାନŋ ମżେର ନକାରାŮକ ଲŁଣର ବକିାଶ 
ସƃଭƽେର ନମିȪମżରୁ େକଉଁ ବକିƝଟ ିଭୁଲ ଅେଟ?  

A) ପାଠପଢ଼ାେର ରୁଚ ିହରାଇବା  
B) ଭୟ ଏବଂ ଉŰୁକତା  
C) ସାମଜକି ଦୂରାଚାର  

D) ଉőତର ଶŁିାଗତ Ȅଦଶƽନ  
 

 
 
27) Why are traditional teaching methods followed in the 
rural and government schools?  

A) Traditional teaching methods strain the students  
B) In traditional teaching methods teacher requires 

special technical knowledge  
C) Traditional teaching methods use a LCD projector in 

the classroom  

D) Traditional teaching method is cheaper than the 
modern teaching method  

 

 
 
27) ǲାମୀଣ ଓ ସରକାରୀ ବଦିȻାଳୟଗଡୁକିେର କାହǂକ ି ପାରƓାରକି ଶŁିାଦାନ 
ପŶତ ିଅନୁସରଣ କରାଯାଏ?  

A) ପାରƓାରିକ ଶŁିାଦାନ ପŶତ ିବଦିȻାଥƽୀମାନŋ ଆǅ ଉପେର ଚାପ ପକାଏ  
B) ପାରƓାରିକ ଶŁିାଦାନ ପŶତେିର ଶିŁକŋୁ ବେିଶଷ େଟକିȪକାଲ ŗାନର 

ଆବଶȻକ େହାଇଥାଏ |  
C) ପାରƓାରିକ ଶŁିାଦାନ ପŶତଗିଡୁକିେର େȎଣୀଗହୃେର ଏଲସଡି ିେȄାେଜକȡର 

ବȻବହାର କରାଯାଏ  
D) ପାରƓାରିକ ଶŁିାଦାନ ପŶତ ିଆଧନୁକି ଶିŁାଦାନ ପŶତ ିଠାରୁ ଶƱା  

 

 
 
28) Which of the following options is FALSE with 
reference to the aims of education in India as formulated 
by Secondary Education Commission in 1952-53?  

A) Development of Democratic Citizenship  
B) Improvement in Adult Female Literacy Rate  
C) Improvement of Vocational Efficiency  
D) Development of Education for Leadership  

 

 
 
28) 1952-53େର ମାżମକି ଶŁିା କମିଶନ, Ÿାରା ȄƱୁତ ଭାରତେର ଶିŁାର 
ଲŁȻ େŁǿେର ନେିମȪାĽ ମżରୁ େକଉଁ ବକିƝଗଡ଼ୁିକ ଭୁǤ ?  

A) ଗଣତାſକି ନାଗରକିŭର ବକିାଶ  

B) ବୟƯ ମହଳିା ସାŁରତା ହାର ବୃŶ ି 
C) ବୃŧିଗତ ତŁତାେର ଉƊତ  ି 

D) େନତୃତȭ ନମିେŽ ଶŁିାର ବକିାଶ  
 

 
 
29) The concept of self image and self worth was given by  

A) Edward Thorndike  
B) Abraham Maslow  
C) Howard Gardner  
D) Carl Rogers  
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29) ଆŮ ଛବ ିଓ ଆŮ ମଲୂȻର ଅବଧାରଣା କିଏ Ȅଦାନ କରǆିେଲ ?  

A) ଏଡ଼ୱାଡ଼ƽ ଥťƽଡାଇǉ  
B)  ଅȆହାମ ମସେଲା  
C)  େହାବରଡ଼ ଗାଡƽନǣ  
D) କାଲƽ  କାଲƽ େରାଜସƽ  

 

 
 
30) Which of the following options is TRUE with reference 
to the tool/technique called 'Force field analysis' applied in 
a school environment?  

A) It is a budget management tool that the schools can 
use to manage their infrastructure requirements  

B) It is a change management tool used to motivate 
people towards change and understand resistance  

C) It is a useful time management tool which helps in the 
analysis of the school time periods  

D) It is an analysis tool that helps in analysing a student's 
calibre and provides feedback for improvement  

 

 
 
30) ବଦିȻାଳୟେର ବȻବହାର କରାଯାଉǆବା ଉପକରଣ/େକୗଶଳ ଯାହାକୁ 'େଫାସƽ 
ଫିǤ ଡ ଆନାଲିସସି' କୁହାଯାଏ, େସ ସƃଭƽେର ନମିȪମżରୁ େକଉଁ ବକିƝଟ ିସଠକି 
ଅେଟ ?  

A) ଏହା ଏକ ବȻୟ ଓ ଆୟ ପରଚିାଳନା େକୗଶଳ ଯାହାକ ି ବଦିȻାଳୟଗଡ଼ୁକି 
େସମାନŋ ଭିŧ ିସଂରଚନା ଆବଶȻକତା ପରଚିାଳନାେର ବȻବହାର କରଥିାଏ 

B) ଏହା ଏକ ପରବିŧƽନ ପରଚିାଳନା େକୗଶଳ ଯାହାକୁ େଲାକମାନŋୁ ପରିବŧƽନ 
ଆଡ଼କୁ େȄରତି କରବିା ଏବଂ Ȅତେିରାଧକୁ ବୁଝିବା ପାଇଁ ବȻବହାର କରାଯାଇ 
ଥାଏ  

C) ଏହା ଏକ ଉପେଯାଗୀ ସମୟ ପରଚିାଳନା େକୗଶଳ ଯାହାକି ବଦିȻାଳୟର 
ସମୟସୀମା ବେିଶȲଷଣେର ସାହାଯȻ କେର  

D) ଏହା ଏକ ବେିଶȲଷଣ େକୗଶଳ ଯାହାକ ିବଦିȻାଥƽୀମାନŋ ସାମଥƽȻ ବେିଶȲଷଣେର 
ସାହାଯȻ କେର ଏବଂ ସଧୁାର ପାଇଁ ସଚୂନା Ȅଦାନ କେର  
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Section 5 - PaperII-Odia Language 

 

31) 'କାଠକିର ପାଠ'– ରୂଢିଟରି ଅଥƽ କ’ଣ ?  

A) କାଠ ିମାżମେର କାଯƽȻ  
B) ବଡ଼ କଠନି କାମ  
C) ଉŧମ କାମ  
D) ସହଜ କାମ  

 

 
 
32) ନମିȪଲିǅତ ମżରୁ େକଉଟଁ ିଏକ ତŶିତ ଶƑ ?  

A) ଶƨି  
B) ରୁǋ ଣ   

C) ସƓƊ  
D) ଧଆୂଁଟଆି  

 

 
 
33) ନମିȪଲିǅତ ମżରୁ େକଉଁଟ ି ଅସƓƊ ସଚୂକ ଧାତୁ ȄତȻୟ ଅେଟ ? 
 
 

A) ଆ  
B) ଇǟ  
C) ଉ  

D) ଏ  
 

 
 
34) ସମƱŋର େପଟ _______ କଥା ଅଛ ି| ନମିȪଲିǅତ ଶƑ ମżରୁ ସଠକି ଶƑ 
Ÿାରା ଶୂନȻ Ƴାନ ପୂରଣ କର |  

A) ଫୁଲିବା  
B) ପାଟଣା  
C) ପୁରିବା  
D) କାଟବିା  

 

 
 
 
 
 
 

35) ନମିȪଲିǅତ ମżରୁ େକଉଁ ଉପସଗƽଟକୁି େଯାଡ଼ିେଦେଲ ‘ଘାତ’ ଶƑଟରି ବପିରୀତ 
ଅଥƽକୁ ବୁଝାଇବ ?  

A) Ȅତ ି 
B) Ȅ  

C) ଅନୁ  
D) ପରା  

 

 
 
36) ନମିȪଲିǅତ ମżରୁ େକଉଁଟ ି‘ଊଣା’ ଶƑର ବପିରୀତ ଶƑ ?  

A) ଅସଂପୂťƽ  
B) ଉŷƽ  
C) ସଂପťୂƽ   
D) ଅǇକ   

 

 
 
37) ନମିȪଲିǅତ ମżରୁ େକଉଁଟ ିଏକ ତǘ ସମ ଶƑ ଅେଟ ?  

A) ଭଉଣୀ  
B) ପିଠି  
C) ଆଠ    

D) ଗଭୀର  
 

 
 
38) ନମିȪଲିǅତ ଶƑ ମżରୁ େକଉଁ ଶƑର ' ନ ' ବťƽଟ ିଅନୁନାସକି ନୁେହ?ଁ  

A) ନବ  
B) ବନ  
C) ଯତନ  

D) ଘନ  
 

 
 

39) ତǘ ସମ ଧାତୁ 'ଅőƽ୍ ' ର ଅଥƽ ସଚୂାଅ ?  

A) ପୂଜା କରବିା  
B) ଆŋିବା  
C) ଅପƽଣ କରିବା  
D) ଅଜǃବା  
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40) ନମିȪଲିǅତ ମżରୁ େକଉଟଁ ି‘ସଂକୀťƽ’ ଶƑର ବପିରୀତ ଅଥƽେବାଧକ ଶƑ ?  

A) ȄଶƱ  
B) Ƹତſ   

C) Łୀଣ   
D) ସŶି   

 

 
 
41) ନମିȪଲିǅତ େକଉଁ ପବୂƽପଦଟ ିଏକ ଅବȻୟ ?  

A) ପୁନଃ  
  

B) ଅପି   
C) ଅଭି   
D) ଅନୁ  

 

 
 
42)  ନମିȪଲିǅତ ମżରୁ େକଉଁଟ ିମେନାǲାହȻ ବେିଶଷȻ ଅେଟ ?  

A) ବଦିȻାଳୟ  
B) ଶŁିକ  

C) େଚୗକ ି 
D) ବୁŶ ି 

 

 
 
43) ‘ଶତମଖୁ େହବା’ ରୂଢଟିରି ଅଥƽ କ’ଣ ?  

A) ଅନୁଗତ େହବା  
B) ବଦନାମ କରିବା   
C) ଅǇକ କରି କହବିା   
D) ଛାଡ଼େିଦବା  

 

 
 
44) ନମିȪଲିǅତ ମżରୁ େକଉଟଁ ି‘ଅରବƃି’ ଶƑର ସମାଥƽକ ଶƑ ?  

A) ରାଜୀବ   
B) ମାରୁତ   
C) ଶକୁŽ   

D) ସରତି  
 

 
 

45)  'ଜଳଦ' ଶƑଟ ିେକଉଁ ଧାତୁ ଓ େକଉଁ ȄତȻୟକୁ େନଇ ଗଠତି େହାଇଛ?ି  

A) ଜଳ+ଦ  
B) ǐ+ǥ+ଦ  

C) ଜଳ+ଦ+ୟ  
D) ଜଳ+ଦା+ଅ  
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Section 6 - PaperII-Mathematics 

 

46) A sum of money doubles itself at compound interest 
in 5 years. In how many years will it become 8 times?  

A) 15 years  
B) 10 years  
C) 18 years  
D) 20 years  

 

 
 
46) େଗାଟିଏ ରାଶ ିଚǰବୃŶି ସଧୁେର 5ବଷƽେର ଦ ିȭଗୁଣତି ହୁଏ, େତେବ େକେତ 
ବଷƽେର ଏହା 8ଗଣୁ େହବ?  

A) 15 ବଷƽ  
B) 10 ବଷƽ  
C) 18 ବଷƽ  
D) 20 ବଷƽ  

 

 
 
47) Let N be the greatest number that will divide 305, 665 
and 905, leaving the same remainder in each case. What 
is the sum of the digits of N?  

A) 5  
B) 3  
C) 6  
D) 4  

 

 
 
47) ଯଦ ି305, 665 ଏବଂ 905କୁ ବଭିାଜତି କରୁǆବା ବୃହŧମ ସଂଖȻା N ଏବଂ 
ଏହା ȄେତȻକ େŁǿେର ସମାନ ଭାଗେଶଷ ରǅଥାଏ। ତାହା େହେଲ Nର 
ଅŋଗୁଡ଼କିର ସମƨି େକେତ?  

A) 5  

B) 3  

C) 6  
D) 4  

 

 
 
 
 
 
 

48) If 325 car models have automatic transmission, 216 
have power steering and 89 have both, then how many 
car models have at least 1 of the features?  

A) 452  
B) 523  
C) 352  
D) 432  

 

 
 
48) ଯଦ ି325 ଟ ିକାର ମେଡଲେର ଅେଟାେମଟକି Ǻାନȷମିସନ ଅଛ,ି 216 ଟ ିେର 
ପାୱାର ƨିଅରŏି ଅଛ ିଓ 89 େର ଉଭୟ ଅଛ,ି େତେବ େକେତାଟ ିକାର ମେଡଲେର 
ଅତ ିକମେର 1 ଟ ିେବଶୖƨିȻ ଅଛ?ି  

A) 452  

B) 523  
C) 352  

D) 432  
 

 
 
49) If x + y = 4 and 2x − y = −1, then the value of x, y are  

A) 1,4  
B) 1,3  
C) 1,5  
D) 4,1  

 

 
 
49) ଯଦ ିx + y = 4 and 2x − y = −1, େତେବ x, y ର ମଲୂȻ େହଉଛ ି 

A) 1,4  

B) 1,3  
C) 1,5  
D) 4,1  
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50) Ananth and Benaka enter into a partnership and 
Ananth invests Rs. 10,00,000 in the partnership. At the 
end of 4 months he withdraws Rs. 2,00,000. At the end of 
another 5 months, he withdraws another Rs. 3,00,000. If 
Benaka receives Rs. 9,60,000 as his share of the total 
profit of Rs. 19,10,000 for the year, how much (in Rs.) did 
Benaka invest in the company?  

A) 8,00,000  
B) 12,00,000  
C) 9,00,000  
D) 10,00,000  

 

 
 
50) ଅନŽ ଏବଂ େବନକ ଏକ ଭାଗୀଦାରୀେର Ȅେବଶ କେଲ ଏବଂ ଅନŽ ଏǆେର 
Rs. 10,00,000 ବନିେିଯାଗ କଲା। 4 ମାସ େଶଷେର େସ Rs. 2,00,000 
ଅଥƽ ȄତȻାହାର କଲା। ପରବŧƽୀ 5ମାସ ପେର େସ ଆଉ Rs. 3,00,000 ଟŋା 
ȄତȻାହାର କଲା। ବଷƽ େଶଷେର େବନକ ସମଦୁାୟ ଲାଭ Rs. 19,10,000 
ମżରୁ ନଜି ଭାଗ Rs. 9,60,000 ପାଇଲା େତେବ େବନକ କƓାନୀେର େକେତ 
(Rs.େର) ବନିିେଯାଗ କରିǆଲା ?  

A) 8,00,000  
B) 12,00,000  
C) 9,00,000  

D) 10,00,000  
 

 
 
51) If 88% of 370 + 24% of 210 - x = 118, then x =  

A) 258  
B) 528  
C) 582  
D) 285  

 

 
 
51) ଯଦ ି370ର 88% + 210ର 24% - x = 118, ତା’ େହେଲ x =  

A) 258  

B) 528  
C) 582  
D) 285  

 

 
 
 
 

52) After simplification, the expression a(a + 4) + 3a2 − 2a 
+ 10 simplifies to  

A) 3a2+4a+10  
B) 5a2+2a+6  
C) 2a2+2a+10  
D) 4a2+2a+10  

 

 
 
52) ସରଳୀକରଣ େହବା ପେର, ସମୀକରଣ a(a + 4) + 3a2 − 2a + 10 ର 
ସରଳୀକୃତ ରୂପ େହବ  

A) 3a2+4a+10  
B) 5a2+2a+6  
C) 2a2+2a+10  
D) 4a2+2a+10  

 

 
 
53) Find the radius of the base of the cylinder, if its volume 
is 1,03,488 cm3 and height is 42 cm  

A) 30 cm  
B) 32 cm  
C) 33 cm  
D) 28 cm  

 

 
 
53) ଯଦ ିଏକ ସଲିିŢର ର ଘନŭ 1,03,488 େସମି3 ଓ ଉőତା 42 େସମି ଥାଏ, 
େତେବ ତାହାର େବǩ ର ଅŶƽ ବȻାସ କୁ ବାହାର କରŽୁ।  

A) 30 େସମି  
B) 32 େସମି  
C) 33 େସମି  
D) 28 େସମି  

 

 
 
54) If the ratio of the LCM and HCF of two numbers is 18 
and their product is 288, then LCM and HCF of the two 
numbers are respectively  

A) 36 and 16  
B) 72 and 4  
C) 36 and 4  
D) 144 and 16  
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54) ଦୁଇଟ ିସଂଖȻାର ଲ.ସା.ଗୁ ଏବଂ ଗ.ସା.ଗରୁ ଅନୁପାତ 18 ଏବଂ େସମାନŋର 
ଗଣୁପଳ 288, େତେବ ଦୁଇଟ ିସଂଖȻାର ଲ.ସା.ଗୁ ଏବଂ ଗ.ସା.ଗୁ ଯଥାǰେମ  

A) 36 ଏବଂ 16  
B) 72 ଏବଂ 4  
C) 36 ଏବଂ 4  

D) 144 ଏବଂ 16  
 

 
 
55) If (x+5)2 = 100, the possible value of 'x' is  

A) -15  
B) 15  
C) -5  
D) 10  

 

 
 
55) ଯଦ ି(x+5)2 = 100, େତେବ 'x'ର ସƗାବȻ ମଲୂȻ େହଉଛ ି 

A) -15  

B) 15  
C) -5  

D) 10  
 

 
 
56) What is the side of a square, whose area is equal to 
the area of a rectangle whose length is 20 cms and 
breadth is 5 cms?  

A) 15 cms  
B) 10 cms  
C) 5 cms  
D) 20 cms  

 

 
 
56) ଏକ ବଗƽ ଯାହାର େŁǿଫଳ 20 େସମି େଦଘୖƽȻ ଓ 5 େସମି ȄƳ ବଶିƨି ଏକ 
ଆୟତେŁǿର େŁǿଫଳ ସହତି ସମାନ, ତାହାର ବାହୁ େକେତ େହବ?  

A) 15 େସମି  
B) 10 େସମି  
C) 5 େସମି  
D) 20 େସମି  

 

 
 

57) If set A has 3 elements and set B is a null set, then 
how many elements will be there in their intersection set?  

A) Three  
B) Two  
C) One  
D) Zero  

 

 
 
57) ଯଦ ିେସଟ A ର 3 ଟ ିଉପାଦାନ ଅଛ ିଓ େସଟ B ଏକ ଖାଲି େସଟ, େତେବ 
େସମାନŋ େଛଦ େସଟେର େକେତାଟ ିଉପାଦାନ ରହବି?  

A) ତନି ି 

B) ଦୁଇ  
C) ଏକ  

D) ଶୂନ  
 

 
 
58) Amruth collected Rs. 100, Rs. 50 and Rs. 10. The ratio 
of these currency notes are in the ratio 3 : 5 : 7 and the 
total value of currency is Rs. 4960. If the number of Rs. 
100, Rs. 50 and Rs. 10 currency notes are reversed, then 
what would be the new total value of currency in the bag 
of Amruth?  

A) 4960  
B) 7840  
C) 6480  
D) 8000  

 

 
 
58) ଅମୃତ Rs. 100, Rs. 50 ଏବଂ Rs. 10 ସଂǲହ କଲା। ଏହ ିମȁୁାଗଡ଼ୁକିର 
େନାǓ  3 : 5 : 7 ଅନୁପାତେର ଅଛ ିଏବଂ ସମୁଦାୟ ମୁȁାର ମୂଲȻ Rs. 4960। 
ଯଦ ିRs. 100, Rs. 50 ଏବଂ Rs. 10 ମȁୁାର ଅନୁପାତ ଓଲଟାଇ ଦଆିଯାଏ 
େତେବ ଅମୃତର ବȻାǋ େର େକେତ ମୂଲȻର ନୂତନ ସମୁଦାୟ ମୁȁା ରହବି?  

A) 4960  

B) 7840  
C) 6480  

D) 8000  
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59) A square with a side of 2 m has a circle inscribed in it 
and in turn this circle has a square inscribed in it. If this 
square also has a circle inscribed in it, what is the area of 
the second circle? (Take Π =22/7)  

A) 11/14 sq.m  
B) 11/28 sq.m  
C) 22/14 sq.m  
D) 1 sq.m  

 

 
 
59) 2 ମିଟର ପାƤƽ ବଶିƨି େଗାଟଏି ବଗƽେŁǿ ଭତିେର ଏକ ବୃŧ ଅŋିତ େହାଇଛ ି
ଏବଂ ଏହ ି ବୃŧ ଭତିେର ଏକ ବଗƽେŁǿ ଅŋିତ େହାଇଛ ି। ଯଦ ିଏହ ିବଗƽେŁǿ 
ମżେର ଏକ ବୃŧ ଅŋିତ େହାଇଛ ିେତେବ Ÿତିୀୟ ବୃŧରେŁǿଫଳ େକେତ?  

( Π =22/7 ଭାବେର ନଅିŽୁ)  

A) 11/14 ବଗƽ ମିଟର  
B) 11/28 ବଗƽ ମିଟର  

C) 22/14 ବଗƽ ମିଟର  
D) 1 ବଗƽ ମିଟର  

 

 
 
60) 

  
 
 In the given figure, the value of 'x' equals to 

 
A) 55  
B) 35  
C) 40  
D) 50  

 

 
 
 
 
 
 
 
 
 
 

60) 

  
 ଦଆିଯାଇǆବା ଚǿିେର 'x' ର ମଲୂȻ __________ ସହତି ସମାନ ଅେଟ । 

 
A) 55  
B) 35  

C) 40  
D) 50  
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Section 7 - PaperII-Social Science 

 

61) Which among the following statements is the 
CORRECT explanation for the term parallels?  

A) Parallels are lines of longitude  
B) Parallels are lines of latitude  
C) Parallels connect the north and south pole of the 

Earth  
D) Meridians are also known as parallels  

 

 
 
61) ନମିȪଲିǅତ  ଉĽିଗଡୁକି ମżରୁ େକଉଁ ଉĽିଟ ି ସମାŁେରଖା ସମȴƆେର 
ସଠǉି  ଅଥƽ Ȅକାଶ  କରୁଛ ି?  

A) ȁାଘମିା େରଖାକୁ ସମାŁେରଖା  କୁହାଯାଏ  
B) ଅŁାଂଶ େରଖାକୁ ସମାŁ େରଖା  କୁହାଯାଏ  

C) ସମାŁେରଖା ପǆୃବୀର ଉŧରେମରୁ ଓ ଦŁିଣେମରୁକୁ େଯାଗ  କରଥିାଏ  
D) ମżƃନି େରଖାକୁ ମż  ସମାŁ େରଖା କୁହାଯାଏ  

 

 
 
62) "Suspension of fundamental rights during emergency" 
of the Indian constitution is borrowed from which of the 
following countries?  

A) United States of America  
B) France  
C) Germany  
D) United Kingdom  

  
 
62) ଭାରତୀୟ ସƖିଧାନେର ‘‘ଜରୁରୀକାଳୀନ ପରƳିିତେିର େମୗଳକି ଅǇକାର 
ବାତଲି’’ ନମିȪଲିǅତ େଦଶ ମżରୁ କାହାର ସƖିଧାନରୁ ଅଣାଯାଇଛ?ି  

A) ଯĽୁରାƩ ଆେମରିକା  
B) ȅାନȷ  
C) ଜମƽାନୀ  
D) ଯĽୁରାଜȻ  

  
 

63) Jhabua district of Madhya Pradesh is a famous 
example for which of the following resource conservation 
efforts of man?  

A) Prevention of soil erosion  
B) Conservation of mineral resources  
C) Reverse land degradation  
D) Conservation of wildlife  

 

63) ମżȄେଦଶର  ଝାବୁଆ ଜơିା ,  ମନୁଷȻ Ÿାରା ସଂରŁିତ କରାଯ଼ାଇ  ପାରୁǆବା 
େକଉଁ ସମȴଳର ଏକ   ଅନନȻ ଉଦାହରଣ ଅେଟ?  

A) ମୃŧିକା ଅବŁୟ ନରିାକରଣ  
B) ଖଣିଜ ସମȴଳର  ସଂରŁଣ  

C) ଆରŁିତ ଜମି ଅବŁରଣ  
D) ବଣȻȄାଣୀ ସଂରŁଣ  

 

 
 
64) Which of the following options refer to the composition 
of the upper layer of the Earth’s crust?  

A) Sima  
B) Oceans  
C) Sial  
D) Continents  

 

 
 
64) ନେିମȪାĽ ମżରୁ େକଉଁଟ ିଭୂŭକର ଉପର Ʊର?  

A) ସୀମା  
B) ମହାସାଗର  
C) ସଆିǤ   
D) ମହାେଦଶ  

 

 
 
65) At which point on the Earth the distance between two 
meridians is maximum?  

A) Poles  
B) Tropic of Cancer  
C) Equator  
D) Arctic Circle  

 

 
 
65) ପǆୃବୀର  େକଉଁ ବƃୁିେର  ଦୁଇଟ ି ମżƃନି େରଖା  ମżେର ଦୁରତା ସବƽାǇକ 
ଅେଟ?  

A) େମରୁ  
B) କକƽଟǰାŽ ି 

C) ବଷୁିବ େରଖା  
D) ଉŧରେମରୁ  
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66) Most sophisticated tools were found in which of the 
following ages?  

A) Mesolithic Age  
B) Paleolithic Age  
C) Neolithic Age  
D) Modern Age  

 

 
 
66) ଅǇକାଂଶ ପରƦିତୃ ଉପକରଣ ନମିȪଲିǅତ ମżରୁ େକଉଁ ଯୁଗେର ମିଳୁǆଲା?  

A) େମେସାଲିǆǉ ଯଗୁ  

B) ପୁରାପାଷାଣ ଯୁଗ  
C) ନବପାଷାଣ ଯଗୁ  

D) ଆଧୁନକି ଯଗୁ  
 

 
 
67) The boundary between the troposphere and the 
stratosphere is called the  

A) Stratopause  
B) Mesopause  
C) Tropopause  
D) Exopause  

 

 
 
67) ǺେପାƷିୟǣ ଓ  ƩାେଟାƷିୟǣ ର  ଆବŶ ଅřଳକୁ କଣ କୁହାଯ଼ାଏ  ?  

A) ƩାେଟାƷିୟǣ  
B) େମେସାƷିୟǣ  

C) ǺେପାƷିୟǣ  
D) ଏେŅାƷିୟǣ  

 

 
 
68) According to the Indian Constitution, what is the 
maximum number of members in Lok Sabha who 
represent the Union Territories?  

A) 18  
B) 19  
C) 17  
D) 20  

 

 
 
 

68) ଭାରତୀୟ ସƖିଧାନ ଅନୁସାେର େଲାକସଭା େର େକେତ ଅǇକତମ ସଦସȻ 
ସଂଘ ରାଜȻ େŁǿ କୁ ȄତନିǇିŭ କରଥିାŽ?ି  

A) 18  
B) 19  
C) 17  

D) 20  
 

 
 
69) A change in the constitution can be brought about by 
a simple majority, in which type of constitution among the 
following options?  

A) Flexible  
B) Rigid  
C) Simple  
D) Difficult  

 

 
 
69) ନେିମȪାĽମାନŋ ମżରୁ େକଉଁ Ȅକାର ସƖିଧାନେର େକବଳ ଏକ ସାଧାରଣ 
ସଂଖȻା ଗରƪିତା Ÿାରା ସƖିଧାନେର ପରିବŧƽନ ଅଣାଯାଇପାରବି?  

A) ନମନୀୟ  
B) କେଠାର  

C) ସରଳ  
D) ଜଟଳି  

 

 
 
70) Which of the following words in Sikh means the path 
of righteousness and proper religious practice?  

A) Granth  
B) Gnyan  
C) Dharm  
D) Sangh  

 

 
 
70) ଶǊି େର ନମିȪଲିǅତ ମżରୁ େକଉଁ ଶƑର ଅଥƽ ଧାମǃକତା ଏବଂ ଉଚତି ଧାମǃକ 
ଅଭȻାସ?  

A) ǲƂ  

B) ŗାନ  
C) ଧମƽ  
D) ସଂଘ  
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71) The famous astronomer Galileo Galilei was born in 
which of the following countries?  

A) France  
B) Greece  
C) Italy  
D) Germany  

 

 
 
71) ନମିȪଲିǅତ ମżରୁ େକଉଁଟ ିଗାଲିଲିଓŋର େଦଶ ǆଲା / ȄସŶି ଗଣିତ ବŗିାନୀ 
ନମିȪଲିǅତ ମżରୁ େକଉଁ େଦଶ େର ଜନȯ େନଇǆେଲ?  

A) ȅାନȷ  
B) ǲୀସ  
C) ଇଟାଲୀ  
D) ଜମƽାନୀ  

 

 
 
72) Which of the following countries was separated from 
India as result of the Government of India Act, 1935?  

A) Aden  
B) Ceylon  
C) Bhutan  
D) Burma  

 

 
 
72) ନମିȪଲିǅତ ମżରୁ େକଉଁ େଦଶ ଭାରତ ସରକାରŋର ଅǇନୟିମ 1935 ର 
ପରଣିାମƸରୂପ ଭାରତ ରୁ ଅଲଗା େହାଇଯାଇǆଲା?  

A) ଆେଡ଼ǜ  

B) ସାଇଲǜ  

C) ଭୁଟାǜ  
D) ବମƽା  

 

 
 
73) Oceanic resources beyond 200 nautical miles of the 
Exclusive Economic Zone, is the BEST example for which 
of the following types of resources?  

A) Abiotic Resources  
B) National Resources  
C) International Resources  
D) Non-Renewable Resources  

 

 
 

73) ମହାସାଗରେର 200 ନଟକିାǤ ମାଇǤ ପେର ǆବା Ƹତſ ଅଥƽେନତୖକି ଅřଳ 
,ନମିȪଲିǅତ ମżରୁ େକଉଁ Ȅକାରର ସମȴଳର ସେବƽାŦɲ ƨ ଉଦାହରଣ ଅେଟ ?  

A) ଅେଜବୖ ସମȴଳ  
B) Ȅାକୃତକି ସƓଦ  
C) ଅŽଯ଼ƽାତୀକ ସମȴଳ  

D) ନବୀକରଣ ଅେଯ଼ାଗȻ ସମȴଳ  
 

 
 
74) In which year did Subhash Chandra Bose resign from 
Presidentship of the Congress?  

A) 1940  
B) 1939  
C) 1942  
D) 1938  

 

 
 
74) େକଉଁ ବଷƽ ସଭୁାଷ ଚƄ େବାଷ କଂେǲସ ର ଅżŁ ପଦ ରୁ ପଦତȻାଗ 
କରǆିେଲ?  

A) 1940  

B) 1939  
C) 1942  
D) 1938  

 

 
 
75) Which of the following schedules of the Indian 
Constitution deals with the Urban Local Government?  

A) 13th Schedule  
B) 10th Schedule  
C) 11th Schedule  
D) 12th Schedule  

 

 
 
75) ଭାରତୀୟ ସƖିଧାନ ର ନମିȪଲିǅତ ଅନୁସଚୂ ିମżରୁ େକଉଟଁ ିସହରୀ Ƴାନୀୟ 
ସରକାର ସହତି ସମȴƆତି ଅେଟ?  

A) 13ତମ ଅନୁସଚୂ ି 
B) 10ତମ ଅନୁସଚୂ ି 
C) 11ତମ ଅନୁସଚୂ ି 

D) 12ତମ ଅନୁସଚୂ ି 
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Section 8 - PaperII-Science 

 

76) From the top of a tower, a ball A is dropped and 
another ball B is thrown horizontally at the same time. 
Which among the following strikes the ground first?  

A) B  
B) Simultaneously A and B  
C) Depends on the masses  
D) A  

 

 
 
76) ଏକ ଟାଓȴାର ଉପରୁ େଗାଟଏି ବǤ  A ପକାଗଲା ଏବଂ ସମାନ ସମୟେର ଅନȻ 
ଏକ ବǤ  B ସମାŽରାଳ ଭାବେର ଫିŏା ଗଲା । େସଗୁଡ଼କି ମżରୁ େକଉଁଟ ିȄଥେମ 
ଭୂମିେର ପଡ଼ବି?  

A) B  

B) ଏକ ସମୟେର A ଏବଂ B  
C) ବƱୁŭ ଉପେର ନଭିƽର କେର  

D) A  
 

 
 
77) Surface tension of water is 0.072 N m-1. The excess 
pressure inside a water drop of diameter 0.6 mm is (Given, 
cosθ = cos0° = 1)  

A) 72 N/m2  
B) 480 N/m2  
C) 120 N/m2  
D) 240 N/m2  

 

 
 
77) ଜଳର ଉପର ଭାଗର ଚାପ 0.072 N m-1। 0.6 mm ବȻାସ ବଶିƨି ଏକ 
ଜଳ ବƃୁି ଭତିେର ଅତରିĽି ଚାପ (ଯଦ ି,cosθ = cos0° = 1) େହଉଛ ି 

A) 72 N/m2  

B) 480 N/m2  
C) 120 N/m2  
D) 240 N/m2  

 

 
 
 
 
 

78) Which among the following microorganisms 
produces the immunosuppressant medication known as 
Cyclosporin A?  

A) Trichoderma polysporum  
B) Clostridium butyricum  
C) Streptococcus  
D) Monascus purpureus  

 

 
 
78) ନମିȪମżରୁ େକଉଁ ସŃୂଜୀବ ସାଇେକȲାେƶାରନି A ନାମକ ଇମୁȻେନାସେȄସାŠ 
ଔଷଧ ତଆିର ିକରଥିାଏ?  

A) Ǻାଇେକାଡମƽା ପଲିେƶାରମ  
B) କȲƩିଡିୟମ ବୁȻଟରିକିମ  

C) େƩେପȡାେକାକସ  
D) େମାନସକସ ପପƽରଅିସ  

 

 
 
79) The process by which two or more species, genes or 
phenotypic traits undergo adaptation as a pair or group is 
known as  

A) Structural adaptation  
B) Behavioural adaptation  
C) Co-adaptation  
D) Exaptation  

 

 
 
79) େଯଉଁ Ȅǰିୟା ମାżମେର ଦୁଇ ବା ଅǇକ Ȅଜାତ,ି ଜନି ବା Ȅରୂପୀ ବେିଶଷତା 
(େଫେନାଟାଇପିକ େǺଟ) ଏକ େଯାଡା ବା େଗାƪୀ ଭାବେର ଅନୁକୂଳନ େଦଇ ଗତ ି
କରଥିାଆŽ,ି ତାହାକୁ କଣ କୁହାଯାଏ?  

A) Ʃǉ ଚରାଲ ଆଡାେପȡସନ  
B) ବେିହବଅିରାଲ ଆଡାେପȡସନ  

C) େକା-ଆଡାେପȡସନ  
D) ଏଗȞାେପȡସନ  
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80) A projectile is fired from the surface of the earth with 
a velocity of 5 m/s and angle θ with the horizontal. Another 
projectile fired from another planet with a velocity of 3m/s 
at the same angle follows a trajectory which is identical 
with the trajectory of the projectile fired from the earth. The 
value of the acceleration due to gravity on the planet is 
(Given, g = 9.8 ms-2)  

A) 16.3 ms-2  
B) 3.5 ms-2  
C) 110.8 ms-2  
D) 5.9 ms-2  

 

 
 
80) 5 m/s େବଗେର ଏବଂ ଅନୁȄƳ ଭାବେର θ େକାଣେର ଏକ େŁପଣାƲ 

ଭୂପୃƪରୁ ନେିŁପ କରାଗଲା । ଅନȻ ଏକ ǲହରୁ ଅନȻ ଏକ େŁପଣାƲ 3m/s 
େବଗେର ସମାନ େକାଣେର ପǆୃବୀପƪୃରୁ ନେିŁପ କରାଯାଇǆବା େŁପଣାƲର 

ସାଦୃଶȻ ȄେŁପଣ ପଥ ଅନୁସରଣ କେର । ǲହର ଗୁରୁŭାକଷƽଣ କାରଣରୁ ŭରଣର 
ମଲୂȻ େହଉଛ ି(ଯଦ ି g = 9.8 ms -2)  

A) 16.3 ms-2  

B) 3.5 ms-2  

C) 110.8 ms-2  
D) 5.9 ms-2  

 

 
 
81) Virus is usually composed of a protein coat and  

A) Lactic acid  
B) Nucleic acid  
C) Citric acid  
D) Oxalic acid  

 

 
 
81) ଭାଇରସ ସାଧାରଣତଃ େȄାଟନି Ȅେଲପ ଓ _____ କୁ େନଇ ଗଠତି?  

A) ଲାକିȡକ ଅମȲ  
B) ନୁȻକିȲକ ଅମȲ  
C) ସାଇǺକି ଅମȲ  
D) ଅǉ ଜାଲିକ ଅମȲ  

 

 
 
 
 
 

82) If a plant is placed in water and kept under sun, 
bubbles of a gas is formed. Identify the gas formed.  

A) Carbon dioxide  
B) Nitrogen  
C) Oxygen  
D) Carbon monooxide  

 

 
 
82) ଯଦ ିେଗାଟଏି ଉŹିଦକୁ ଜଳ ଭତିେର ସଯୂƽȻ ତେଳ ରଖାଯାଏ, ଏକ ଗȻାସର 
େଫାଟକାଗଡୁକି ସୃƨି ହୁଏ | େସହ ିଗȻାସଟ ିକଣ?  

A) ଅŏାରକାମȳ  
B) ଯବŁାରଜାନ  
C) ଅମȲଜାନ  

D) କାବƽନ ମେନାŅାଇଡ  
 

 
 
83) In which of the following ways is the decomposition 
reaction represented?  

A) AB + CD → AD + BC  
B) A + B → AB  
C) A + BC → AC + B  
D) AB → A + B  

 

 
 
83) ଅପଘଟନ Ȅତǰିିୟା ନମିȪମżରୁ େକଉ ଁଉପାୟେର Ȅଦଶǃତ କରାଯାଏ?  

A) AB + CD → AD + BC  
B) A + B → AB  

C) A + BC → AC + B  
D) AB → A + B  

 

 
 
84) A 150 m long train is moving to north at a speed of 10 
m/s. A parrot flying towards south with a speed of 5 m/s 
crosses the train. The time taken by the parrot to cross the 
train would be  

A) 5 s  
B) 15 s  
C) 25 s  
D) 10 s  
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84) 150 m ମଟିର ଦୀଘƽ ଏକ େǺǜ 10 m/s େବଗେର ଉŧରକୁ ଯାଉଛ ି। 
ଦŁିଣ ଆଡ଼କୁ 5 m/s େବଗେର ଉଡ଼ୁǆବା ଏକ ଶୁଆ େǺǜ କୁ ଅତǰିମ କରଛି ି
।େǺǜ କୁ ଅତǰିମ କରବିା ପାଇଁ ଶୁଆ Ÿାରା ନଆିଯାଇǆବା ସମୟ େହଉଛ ି 

A) 5 s  
B) 15 s  
C) 25 s  

D) 10 s  
 

 
 
85) The roots that arise from the parts of the plant other 
than the radicle are known as adventitious (aerial) roots 
that are usually seen in a  

A) Neem Tree  
B) Wheat Plant  
C) Carrot Plant  
D) Banyan Tree  

 

 
 
85) ଉŹିଦର େରଡକିǤ  ବଦଳେର ଅନȻ ଅଂଶରୁ େଚର ବାହାରେିଲ ତାହାକୁ 
ଆଡେଭŠସିିଅସ (ବାୟବୀୟ) େଚର କୁହାଯାଏ ଯାହା ସାଧାରଣତଃ ନମିȪମżରୁ 
େକଉଁ ଗଛେର େଦଖାଯାଏ?  

A) ନମିȴ ଗଛ  
B) ଗହମ ଗଛ  

C) ଗାଜର ଗଛ  
D) ବର ଗଛ  

 

 
 
86) Thermal capacity of 100 g of aluminum (s = 0.2 cal/g 
K) is 

 
(Given, One calorie = 4.2 joules)  

A) 420 J/°C  
B) 42 J/°C  
C) 840 J/°C  
D) 84 J/°C  

 

 
 
 
 
 
 

86) 100 g ଆଲୁମିନୟିǡ ର(s = 0.2 cal/g K) ତାପଜ Łମତା େହଉଛ ି(ଯଦ,ି 
ଏକ କȻାେଲାରୀ = 4.2 ଜୁǤ ସ)  

A) 420 J/°C  
B) 42 J/°C  
C) 840 J/°C  

D) 84 J/°C  
 

 
 
87) Read the following statements and choose the 
CORRECT option. 
 
(i) Usually cells vary greatly in their shape and nerve 
cells are some of the longest cells. 
(ii)The shape of the cells may be like disc, polygonal, 
columnar, cuboid, thread-like or even irregular.  

A) (i) is TRUE and (ii) is TRUE  
B) (i) is FALSE and (ii) is FALSE  
C) (i) is TRUE and (ii) is FALSE  
D) (i) is FALSE and (ii) is TRUE  

 

 
 
87) ନମିȪ ଉĽିଗଡୁକି ପଢŽୁ ଓ ସଠକି ବକିƝ ଚୟନ କରŽୁ |  
(i) ସାଧାରଣତଃ େକାଷଗଡୁକିର ଆକୃତ ିବଭିିƊ ଭାବେର ଭƊି ଭƊି େହାଇଥାଏ ଓ 
Ƶାୟୁ େକାଷ େହଉଛ ିସବୁଠାରୁ ଲମȴା େକାଷ |  

(ii)େକାଷଗଡୁକିର ଆକୃତ ିଡƯି ଭଳ,ି ପଲିଗନାଲ, ƱƗାକାର, ଘନାକାର, ସତୂା ଭଳ ି
ବା ଅନୟିମିତ ଆକାରର େହାଇପାେର | 

 
A) (i) େହଉଛ ିଠକି ଓ (ii) େହଉଛ ିଠକି  
B) (i) େହଉଛ ିଭୁଲ ଓ (ii) େହଉଛ ିଭୁଲ  
C) (i) େହଉଛ ିଠକି ଓ (ii) େହଉଛ ିଭୁଲ  

D) (i) େହଉଛ ିଭୁଲ ଓ (ii) େହଉଛ ିଠକି  
 

 
 
88) Which among the following is the microbial control 
agent that is generally used in controlling butterfly 
caterpillars?  

A) Lactobacillus Reuteri  
B) Rhizobium  
C) Bacillus Thuringiensis  
D) Candida Albicans  
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88) ନମିȪମżରୁ େକଉଁଟ ି ଏକ ମାଇେǰାବଆିଲ ନୟିſକ ଏେଜŠ ଯାହା 
ସାଧାରଣତଃ Ȅଜାପତ ିଶକୂକୁ ନୟିſଣ କରବିାେର ବȻବହାର କରାଯାଏ?  

A) ଲାେକȡାବାସଲିସ ରୁେଟର ି 
B) ରାଇେଜାବଅିମ  
C) ବାସଲିସ ଥରୁśିିଏନସସି  

D) କȻାŢଡିା ଆଲବକିାନȷ  
 

 
 
89) Read the following statements and choose the 
CORRECT option. 
 
(i) Lysosomes are non-membrane bound vesicular 
organelles in the structure of an animal cell. 
(ii) Lysosomes contain enzymes that are capable of 
digesting carbohydrates, proteins, lipids and nucleic 
acids.  

A) (i) is FALSE and (ii) is TRUE  
B) (i) is TRUE and (ii) is FALSE  
C) (i) is FALSE and (ii) is FALSE  
D) (i) is TRUE and (ii) is TRUE  

 

 
 
89) ନମିȪ ଉĽିଗଡୁକି ପଢŽୁ ଓ ସଠକି ବକିƝ ଚୟନ କରŽୁ |  
(i) ଲାଇେସାେଜାǡ  େହଉଛ ିଝơିୀ Ÿାରା ଆŒାଦତି େଫାଟକା ଭଳ ିଅŏ ଯାହା ଏକ 
Ȅାଣୀ େକାଷେର ଥାଏ |  

(ii) ଲାଇେସାେଜାǡ  େର ଏśାଇମ ଥାଏ ଯାହା କାେବƽାହାଇେǼଟ, େȄାଟନି, ଲିପଡି 
ଓ ନୁȻକିȲକ ଅମȲ ପାଚନ କରିବାେର ସŁମ | 

 
A) (i) େହଉଛ ିଭୁଲ ଓ (ii) େହଉଛ ିଠକି  
B) (i) େହଉଛ ିଠକି ଓ (ii) େହଉଛ ିଭୁଲ  
C) (i) େହଉଛ ିଭୁଲ ଓ (ii) େହଉଛ ିଭୁଲ  

D) (i) େହଉଛ ିଠକି ଓ (ii) େହଉଛ ିଠକି  
 

 
 
90) The level of water in a tank is 5 m high. A hole of area 
10 cm2 is made in the bottom of the tank. The rate of 
leakage of water from the hole is (g = 10 m/s2)  

A) 10-3 m3/s  
B) 10-4 m3/s  
C) 10-2 m3/s  
D) 103 m3/s  

 

 
 

90) ଏକ ଟାŋିେର ଜଳର Ʊର 5 m ଉő । ଟାŋିର ତଳଭାଗେର 10 cm2 ର 
ଏକ କଣା କରାଗଲା । ଉĽ କଣାରୁ ଜଳ େବାହବିାର ହାର େହଉଛ ି (g = 10 
m/s2)  

A) 10-3 m3/s  
B) 10-4 m3/s  
C) 10-2 m3/s  

D) 103 m3/s  
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Question Paper No:  53608_54 

Answer Key 

 

1.  C  
2.  C  
3.  A  
4.  D  
5.  D  
6.  A  
7.  B  
8.  C  
9.  C  
10.  B  
11.  C  
12.  A  
13.  C  
14.  A  
15.  D  
16.  D  
17.  C  
18.  A  
19.  D  
20.  C  
21.  C  
22.  A  
23.  D  
24.  C  
25.  C  
26.  D  
27.  D  
28.  B  
29.  D  
30.  B  

 

31.  B  
32.  D  
33.  C  
34.  B  
35.  A  
36.  D  
37.  D  
38.  A  
39.  A  
40.  A  
41.  A  
42.  D  
43.  C  
44.  A  
45.  D  
46.  A  
47.  B  
48.  A  
49.  B  
50.  A  
51.  A  
52.  D  
53.  D  
54.  B  
55.  A  
56.  B  
57.  D  
58.  B  
59.  C  
60.  B  

 

61.  B  
62.  C  
63.  C  
64.  C  
65.  C  
66.  C  
67.  C  
68.  D  
69.  A  
70.  C  
71.  C  
72.  D  
73.  C  
74.  B  
75.  D  
76.  B  
77.  B  
78.  A  
79.  C  
80.  B  
81.  B  
82.  C  
83.  D  
84.  D  
85.  D  
86.  D  
87.  A  
88.  C  
89.  A  
90.  C  

 

 
 

 


